Airfield Lighting - LED Design at the DeKalb Peachtree (PDK) Airport



Procurement Agent: Jovan Hooper

Bid Opening: March 21, 2024

DEPARTMENT OF PURCHASING CONTRACTING BID EVALUATION

					BROOKS-BERRY-HAYNIE (BBH) & ASSOCIATES, INC.		TRINITY ELECTRICAL SERVICES INC.	
ITEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT	UNIT NO.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		BA	ASE BID - 1	Runway	ys			
1	C-105-1	MOBILIZATION	L. SUM	1	\$95,000.00	\$95,000.00	\$80,000.00	\$80,000.00
2	C-105-2	ENGINEER'S FIELD COMPLEX	L. SUM	1	\$50,885.00	\$50,885.00	\$10,000.00	\$10,000.00
3	GDOT-163-1	CONSTRUCT, MAINTAIN, AND REMOVE CONSTRUCTION EXIT/CONCRETE WASHOUT	EACH	3	\$27,127.95	\$81,383.85	\$1,500.00	\$4,500.00
4	L108-5.1	NO. 8 AWG, 5 KV, L-824, TYPE C CABLE, INSTALLED IN TRENCH, DUCT BANK OR CONDUIT	LIN. FT.	57700	\$2.05	\$118,285.00	\$1.70	\$98,090.00
5	L109-7.1	INSTALLATION OF AIRFIELD LIGHTING VAULT EQUIPMENT, IN PLACE	L. SUM	1	\$176,670.50	\$176,670.50	\$175,000.00	\$175,000.00
6	L109-7.2	REMOVAL OF AIRFIELD LIGHTING VAULT EQUIPMENT, COMPLETE	L. SUM	1	\$10,800.00	\$10,800.00	\$32,000.00	\$32,000.00
7	L125-5.4	L-861 (L), LED MEDIUM INTENSITY RUNWAY EDGE LIGHT ON EXISTING L-867B BASE IN TURF WITH NEW ISOLATION TRANSFORMER, NEW COVER PLATE, NEW GASKET, NEW STAINLESS-STEEL BOLTS, NEW MOUNTING COLUMN AND NEW FRANGIBLE COUPLING, COMPLETE IN PLACE	ЕАСН	56	\$1,680.00	\$94,080.00	\$1,500.00	\$84,000.00
8	L125-5.5	L-861E(L), LED MEDIUM INTENSITY RUNWAY THRESHOLD LIGHT ON EXISTING L-867B BASE IN TURF WITH NEW ISOLATION TRANSFORMER, NEW COVER PLATE, NEW GASKET, NEW STAINLESS-STEEL BOLTS, NEW MOUNTING COLUMN AND NEW FRANGIBLE COUPLING, COMPLETE IN PLACE	EACH	24	\$1,680.00	\$40,320.00	\$1,500.00	\$36,000.00
9	L125-5.6	L-852D, LED IN-PAVEMENT TAXIWAY CENTERLINE LIGHT USED AS IN- PAVEMENT MEDIUM INTENSITY RUNWAY EDGE LIGHT ON EXISTING L- 868B BASE IN PAVEMENT, WITH NEW ISOLATION TRANSFORMER, NEW GASKET, NEW STAINLESS-STEEL BOLTS AND NEW TWO-PIECE LOCK WASHERS, COMPLETE IN PLACE	EACH	1	\$2,615.00	\$2,615.00	\$2,500.00	\$2,500.00
10	L125-5.7	L-862(L), LED HIGH INTENSITY RUNWAY EDGE LIGHT ON EXISTING L- 867B BASE IN TURF WITH NEW ISOLATION TRANSFORMER, NEW COVER PLATE, NEW GASKET, NEW STAINLESS-STEEL BOLTS, NEW MOUNTING COLUMN AND NEW FRANGIBLE COUPLING, COMPLETE IN PLACE	ЕАСН	54	\$2,050.00	\$110,700.00	\$1,800.00	\$97,200.00
11	L125-5.8	L-862E(L), LED HIGH INTENSITY RUNWAY THRESHOLD LIGHT ON EXISTING L-867B BASE IN TURF WITH NEW ISOLATION TRANSFORMER, NEW COVER PLATE, NEW GASKET, NEW STAINLESS-STEEL BOLTS, NEW MOUNTING COLUMN AND NEW FRANGIBLE COUPLING, COMPLETE IN PLACE	EACH	16	\$2,050.00	\$32,800.00	\$1,450.00	\$23,200.00
12	L125-5.9	L-850C(L), IN-PAVEMENT LED HIGH INTENSITY RUNWAY EDGE LIGHT ON EXISTING L-868B BASE IN PAVEMENT, WITH NEW ISOLATION TRANSFORMER, NEW GASKET, NEW STAINLESS-STEEL BOLTS AND	EACH	6	\$2,965.50	\$17,793.00	\$2,075.00	\$12,450.00

NEW TWO-PIECE LOCK WASHERS, COMPLETE IN PLACE



Procurement Agent: Jovan Hooper

Bid Opening: March 21, 2024

DEPARTMENT OF PURCHASING CONTRACTING BID EVALUATION

						RY-HAYNIE (BBH) CIATES, INC.	TRINITY ELECTRICAL SERVICES, INC.	
ITEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT	UNIT NO.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
13	L125-5.10	L-850D(L), IN-PAVEMENT LED HIGH INTENSITY RUNWAY THRESHOLD LIGHT ON EXISTING L-868B BASE IN PAVEMENT, WITH NEW ISOLATION TRANSFORMER, NEW GASKET, NEW STAINLESS-STEEL BOLTS AND NEW TWO-PIECE LOCK WASHERS, COMPLETE IN PLACE	ЕАСН	7	\$2,708.25	\$18,957.75	\$2,075.00	\$14,525.00
14	L125-5.11	L-850D(L), IN-PAVEMENT LED HIGH INTENSITY RUNWAY THRESHOLD LIGHT ON NEW L-868B BASE IN PAVEMENT, WITH ISOLATION TRANSFORMER, GASKET, FLANGE RING, SPACERS, SEALANT, STAINLESS STEEL BOLTS AND TWO-PIECE LOCK WASHERS, CONCRETE PAD, COMPLETE IN PLACE	ЕАСН	1	\$19,950.00	\$19,950.00	\$3,500.00	\$3,500.00
15	L125-5.12	EXISTING L-858(L) LED SIGN, SIZE 1, 1 MODULE, NEW ISOLATION TRANSFORMER INSTALLED AND CONNECTED COMPLETE	EACH	2	* \$958.50	* \$1,917.00	* \$1,270.00	* \$2,540.00
16	L125-5.12	EXISTING L-858(L) LED SIGN, SIZE 1, 1 MODULE, NEW ISOLATION TRANSFORMER INSTALLED AND CONNECTED COMPLETE	EACH	2	\$958.50	\$1,917.00	\$1,200.00	\$2,400.00
17	L125-5.13	EXISTING L-858(L) LED SIGN, SIZE 1, 2-4 MODULES, NEW ISOLATION TRANSFORMER INSTALLED AND CONNECTED COMPLETE	EACH	38	\$992.75	\$37,724.50	\$1,170.00	\$44,460.00
18	L125-5.14	REMOVE EXISTING QUARTZ ELEVATED RUNWAY LIGHT AND ISOLATION TRANSFORMER, L-867B BASE MOUNTED IN TURF. BASE REMAINS IN PLACE	EACH	158	\$89.00	\$14,062.00	\$375.00	\$59,250.00
19	L125-5.15	REMOVE EXISTING QUARTZ IN-PAVEMENT RUNWAY LIGHT AND ISOLATION TRANSFORMER, L-868B BASE MOUNTED IN PAVEMENT. BASE REMAINS IN PLACE	EACH	14	\$89.00	\$1,246.00	\$150.00	\$2,100.00
20	L125-5.18	REMOVE EXISTING QUARTZ ELEVATED RUNWAY LIGHT, ISOLATION TRANSFORMER AND L-867B BASE MOUNTED IN TURF	EACH	1	\$89.00	\$89.00	\$400.00	\$400.00
21	L125-5.19	REMOVE EXISTING L-858, SIZE 1, GUIDANCE SIGN MOUNTED ON CONCRETE PAD	EACH	2	\$619.50	\$1,239.00	\$500.00	\$1,000.00
22	L125-5.20	ADJUST TO GRADE L-867B LIGHT BASE IN TURF, NEW MEDIUM INTENSITY L-861(L) LED RUNWAY EDGE LIGHT WITH NEW ISOLATION TRANSFORMER, NEW COVER PLATE, NEW GASKET, NEW STAINLESS-STEEL BOLTS, NEW MOUNTING COLUMN AND NEW FRANGIBLE COUPLING, COMPLETE IN PLACE	ЕАСН	10	\$975.00	\$9,750.00	\$1,500.00	\$15,000.00
23	L125-5.21	RELOCATE L-867B LIGHT BASE, NEW MEDIUM INTENSITY L-861E(L) LED RUNWAY THRESHOLD LIGHT WITH NEW ISOLATION TRANSFORMER NEW COVER PLATE, NEW GASKET, NEW STAINLESS-STEEL BOLTS, NEW MOUNTING COLUMN AND NEW FRANGIBLE COUPLING, COMPLETE IN PLACE	ЕАСН	16	\$1,560.00	\$24,960.00	\$3,000.00	\$48,000.00
24	L125-5.23	RELOCATE L-867B LIGHT BASE, UTILIZE EXISTING MEDIUM INTENSITY L-861T QUARTZ TAXIWAY LIGHT, COMPLETE IN PLACE	EACH	1	\$1,250.00	\$1,250.00	\$2,100.00	\$2,100.00
	TOTAL BASE BID – Runways:					4,394.60	\$85	0,215.00

Airfield Lighting – LED Design at the DeKalb Peachtree (PDK) Airport



Procurement Agent: Jovan Hooper

Bid Opening: March 21, 2024

DEPARTMENT OF PURCHASING CONTRACTING BID EVALUATION

						RY-HAYNIE (BBH) CIATES, INC.	TRINITY ELECTRICAL SERVICES, INC.	
ITEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT	UNIT NO.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE

ADDITIVE BID - Taxiways

	ADDITIVE DID - Taxiways										
1	C-105-1	MOBILIZATION	L. SUM	1	\$116,825.00	\$116,825.00	\$90,000.00	\$90,000.00			
2	C-105-3	ENGINEER'S FIELD COMPLEX - ADDITIONAL TIME	L. SUM	1	\$12,650.00	\$12,650.00	\$8,000.00	\$8,000.00			
3	L108-5.1	NO. 8 AWG, 5 KV, L-824, TYPE C CABLE, INSTALLED IN TRENCH, DUCT BANK OR CONDUIT	LIN. FT.	101400	\$2.05	\$207,870.00	\$1.65	\$167,310.00			
4	L109-7.1	INSTALLATION OF AIRFIELD LIGHTING VAULT EQUIPMENT, IN PLACE	L. SUM	1	\$195,542.50	\$195,542.50	\$150,000.00	\$150,000.00			
5	L109-7.2	REMOVAL OF AIRFIELD LIGHTING VAULT EQUIPMENT, COMPLETE	L. SUM	1	\$14,150.50	\$14,150.50	\$15,000.00	\$15,000.00			
6	L109A-5.1	AIRFIELD LIGHTING VAULT BUILDING STANDBY POWER SYSTEM INSTALLED COMPLETE	L. SUM	1	\$321,680.25	\$321,680.25	\$185,000.00	\$185,000.00			
7	L125-5.1	L-861T(L), LED MEDIUM INTENSITY TAXIWAY EDGE LIGHT ON EXISTING L-867B BASE IN TURF WITH NEW ISOLATION TRANSFORMER, NEW COVER PLATE, NEW GASKET, NEW STAINLESS-STEEL BOLTS, NEW MOUNTING COLUMN AND NEW FRANGIBLE COUPLING, COMPLETE IN PLACE	EACH	515	\$1,290.50	\$664,607.50	\$900.00	\$463,500.00			
8	L125-5.2	L-852(L), IN-PAVEMENT LED TAXIWAY CENTERLINE LIGHT ON EXISTING L-868B BASE IN PAVEMENT, WITH NEW ISOLATION TRANSFORMER, NEW GASKET, NEW STAINLESS-STEEL BOLTS AND NEW TWO-PIECE LOCK WASHERS, COMPLETE IN PLACE	EACH	63	\$2,615.00	\$164,745.00	\$2,900.00	\$182,700.00			
9	L125-5.3	L-852T(L), IN-PAVEMENT LED TAXIWAY EDGE LIGHT ON EXISTING L- 868B BASE IN PAVEMENT, WITH NEW ISOLATION TRANSFORMER, NEW GASKET, NEW STAINLESS-STEEL BOLTS, AND NEW TWO-PIECE LOCK WASHERS, COMPLETE IN PLACE	EACH	2	\$2,441.50	\$4,883.00	\$3,000.00	\$6,000.00			
10	L125-5.12	EXISTING L-858(L) LED SIGN, SIZE 1, 1 MODULE, NEW ISOLATION TRANSFORMER INSTALLED AND CONNECTED COMPLETE	EACH	37	\$975.00	\$36,075.00	\$500.00	\$18,500.00			
11	L125-5.13	EXISTING L-858(L) LED SIGN, SIZE 1, 2-4 MODULES, NEW ISOLATION TRANSFORMER INSTALLED AND CONNECTED COMPLETE	EACH	40	\$1,000.00	\$40,000.00	\$550.00	\$22,000.00			
12	L125-5.16	REMOVE EXISTING QUARTZ ELEVATED TAXIWAY LIGHT AND ISOLATION TRANSFORMER, L-867B BASE MOUNTED IN TURF. BASE REMAINS IN PLACE	EACH	515	\$89.00	\$45,835.00	\$75.00	\$38,625.00			
13	L125-5.17	REMOVE EXISTING QUARTZ IN-PAVEMENT TAXIWAY LIGHT AND ISOLATION TRANSFORMER, L-868B BASE MOUNTED IN PAVEMENT. BASE REMAINS IN PLACE	EACH	65	\$89.00	\$5,785.00	\$100.00	\$6,500.00			
14	L125-5.19	REMOVE EXISTING L-858, SIZE 1, GUIDANCE SIGN MOUNTED ON CONCRETE PAD	EACH	2	\$4,195.00	\$8,390.00	\$1,000.00	\$2,000.00			

Airfield Lighting - LED Design at the DeKalb Peachtree (PDK) Airport



Procurement Agent: Jovan Hooper

Bid Opening: March 21, 2024

DEPARTMENT OF PURCHASING CONTRACTING BID EVALUATION

					BROOKS-BERRY-HAYNIE (BBH) & ASSOCIATES, INC.		TRINITY ELECTRICAL SERVICES, INC.		
ITEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT	UNIT NO.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
15	L125-5.22	RELOCATE L-867B LIGHT BASE, NEW MEDIUM INTENSITY L-861T(L) LED TAXIWAY LIGHT WITH NEW ISOLATION TRANSFORMER, NEW COVER PLATE, NEW GASKET, NEW STAINLESS-STEEL BOLTS, NEW MOUNTING COLUMN AND NEW FRANGIBLE COUPLING, COMPLETE IN PLACE	EACH	1	\$1,560.00	\$1,560.00	\$1,500.00	\$1,500.00	
16	L125-5.24	L-860H(L), LED ELEVATED HELIPAD EDGE LIGHT ON EXISTING BASE IN EXISTING PAVEMENT, WITH NEW ISOLATION TRANSFORMER, NEW GASKET, NEW STAINLESS-STEEL BOLTS AND NEW TWO-PIECE WASHERS, COMPLETE IN PLACE	EACH	12	\$1,593.50	\$19,122.00	\$2,100.00	\$25,200.00	
17	L125-5.25	REMOVE EXISTING QUARTZ ELEVATED L-860H HELIPAD PERIMETER LIGHT AND ISOLATION TRANSFORMER, BASE MOUNTED IN PAVEMENT, BASE REMAINS IN PLACE	EACH	12	\$89.00	\$1,068.00	\$200.00	\$2,400.00	
		TOTAL ADDITI	VE BID – Ta	xiways:	\$1,86	50,788.75	\$1,3	84,235.00	
		TOTAL AMOUNT (Base - Runwa	ıys; & Additive - T	axiways) .		RY-HAYNIE (BBH) CIATES, INC.	-	TRICAL SERVICES, INC.	
		TOTAL AMOUNT		•	* \$2,825,183.35		* \$2,234,450.00		
		Number of Bids Received: 3 (1 non	BROOKS-BERRY-HAYNIE (BBH) & ASSOCIATES, INC.		TRINITY ELECTRICAL SERVICES, INC.				
	Vendor submitted in cost in separate sealed sealed envelope? (Yes/No)					Yes		Yes	
	Vendor included REVISED cost in other areas outside of separate sealed envelope? (Yes/ No)				No		No		
	All Required Documents Submitted? (Yes/ No)					Yes		Yes	
	Federal Debarment?					No		No	

Precision Approach, LLC deemed Non-Responsible.

Witness Signature: Phyllis A. Head Digitally signed by Phyllis A. Head Date: 2024.03.25 13:13:05-04'00'

Agent Signature: Digitally signed by Jovan Hooper Date: 2024.03.25 13:21:01 -04'00'

^{*} Duplication error with price schedule, line items 15 and 16, totals were corrected with line item 15 removed. Duplication error was acknowledged and have agreed to honor the actual amounts. Trinity Electrical Services, Inc. Actual Amounts: 'TOTAL BASE BID-Runways:' \$962,477.60 (BBH); \$847,675.00 (Trinity Electrical Svcs). 'TOTAL AMOUNT (Base-Runways; & Additive - Taxiways)': \$2,823,266.35 (BBH); and 2,231,910.00 (Trinity Electrical Svcs).